
�-i&:;f�m qu�- II 

SUMMATIVE ASSESSMENT- II  
SCIENCE/� 

Class - IX/ Ff;a_lf - IX 

�3r<fi:100 

Maximum Marks: 100 

f.ruffur�:3-3½� 

Time allowed: 3 -3 ½ hours 

�f.$ir: 

(i) � W,, 1T3f cfil 'ffi-f 'mlll, 1-l'TlT-at, 1-l'JlT-Gf 3m 1-l'JlT-� if -ajc:r �°%I � m;n' 'l:fT1Tf � � �
��,,

(ii) "fl'I-TT W,, � f I
(iii) � W,,,r;r if fcnm w-'l' if cJiW 'i:fGA1ffil �°% I
(iv) 3lflloFiT 1-l'JlT-at, 1-l'JlT-q am�-�� "fl''I-TT ffl �� "9:�-1J� � mi11
(v) �-3l�ffim:§l!T1�3�w-'1'�-�afq;�ft ����3'.f���if�I
(vi) <qflf-& � m m:§llT 4 � 6 � m *-* � � f 1 � � ffi'i-11T 30 �if� f 1
(vii) <qflf--3f i:fi- m � 7 � 18 � m ffi.f-ffi.f � � f 1 � � ffi'i-11T 50 �if� f 1
(viii) <qflf-3l � w-'l' � 19 "B 24 � w-'l' -qfu--,rn;.r � � f I � � ffi'i-11T 70 �if� f I 
(ix) <qflf-Gf � m � 25 "B 33 � m w-11%-J.Jch � <R 3llmfur ais:fqch0fi m f 1 � m �

mticfi1%1 �T[ir��if"B�������t1

(x) <qflf-� � m � 34 "B 36 � m si4'1111c-J.Jch � <R 3llmfur *-* � � m f 1 � �
ffi'i-l1130�if�f I

(xi) <qflf- � if m m:§llT 371J$ llTo <R 3llmmf � � cfi1 m '% 1
General Instructions: 

(i) The question paper comprises of three Sections, A, Band C. You are to attempt all the
sections.

(ii) All questions are compulsory.
(iii) There is no choice in any of the questions.
(iv) All questions of Section-A, Section-Band Section-Care to be attempted separately.
(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be

answered in one word or in one sentence.
(vi) Question numbers 4 to 6 in Section-A are two marks questions. These are to be

answered in about 30 words each.
(vii) Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered in about 50 words each.
(viii) Question numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70 words each.
(ix) Question numbers 25 to 33 in Section-B are multiple choice questions based on

practical skills. Each question is a one mark question. You are to select one most
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appropriate response out of the four provided to you. 
(x) Question numbers 34 to 36 in section Bare two marks questions based on practical

skills. These are to be answered in about 30 words each.
(xi) Question number 37 from section C is based on Open Text themes and is of 10 marks.

'{1'1T-3l I SECTION-A 

An uncharged particle is found in the nucleus of an atom. Identify this uncharged particle. 

� 1,RT � q•ffcfi(OI B ffl cl1B � <FIT ffl'${ �I 

What was the modifications introduced by Cart Woese, in the classification proposed by 
Whittaker? 

Name the gas produced when glucose molecules breakdown using oxygen. 

Explain, what is Organ specific manifestation ? 

Give an example of each of the following 

(a) a body having potential energy due to change of shape.

(b) a body having potential energy due to its position.

1 

1 
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6 lfRcf cnuf ll 'uff.r cf,l �� � �� cf,l �t? 
2 

How sensation of sound is produced in a human ear? 

7 (a) 02 <TP.ll 20 if fq� � I 3 

(b) f19f(!-lf©a �if�-���:

(i) � q{l-11'1ofi �

(ii) fr;q{l-11'¥fi 3T?I

(iii) f;;i q <l-11 uJofi 3T?I

(iv) '9g,4<l-11'¥fi �

(a) Write difference between 02 and 20.

(b) Give one example in each of the following cases

(i) Mono atomic molecule

(ii) Di atomic molecule

(iii) Tri atomic molecule

(iv) Tetra atomic molecule

8 (a) 0.2 lffi16-IT¾h1 � cfiT �1 qfb'fif(!-la � 1 3 

(b) 12Wl 6l1¥8hH -mf"ofillffi'fif ��I

(a) Calculate the mass of 0.2 moles of oxygen molecules.

(b) Convert 12g of oxygen gas into mole.

9 fcnm cfl'q 'Y' cfil" � "B&IT 13 t- I cfl'q 'Y' ii f.p •• -1fof@a cfiT qQ'91f·w: 1 3 

(a) �i!lcf?T11· cfil" �

(b) Wcli1 �i!lcf?THofi fcp:Jm
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The atomic number of an element 'Y' is 13. Identify the following in element 'Y' 

(a) the number of electrons

(b) its electronic configuration

(c) draw its atomic structure

10 �'i:TT������WT�"ffi-::r�-U�-;;@�7p:rri1 ���!HM111i�� 3 
™ Tit� a.i,f.lfB4M i:fii41bn-1 � � cfil � fffisft 1 

11 

(a) � � cfil � � � cR-11 �?
(b) � � wm -u � �, op:["[�� lWOO cfil � -u � m 2ft "{'f� �?
Radha while going to school saw that the garbage was not picked up for almost three days. 
She was very unhappy and immediately wrote a complaint to the municipal corporation 
office. 
(a) Why was Radha unhappy about the garbage.
(b) Her friend was suffering from dysentery. Was Radha relating her illness with the
garbage and why ?

Tabulate three differences between acute and chronic diseases. 

3 

12 amf� 1:f,,cq <nl lffi'lWIT � �� � lJNcli �I fct;m om cnT 'l1R � if 80 g, � if 3 

68 g il� m-f if 60 g %1 � cnT �a:fcn � qf{cfifctd �I 

13 

Define relative density. Give its unit. A solid weighs 80 gin air, 68 g in water and 60 g in oil. 
Calculate the relative density of oil. 

fcfim � cfiT 'qR � if 100 g, � -if 75 g TI� "lIB -if 70 g i1 "lIB cfiT ;m-qf� cA"fq qflcfif&ta 

�I 

Define density. Give its SI unit. 

3 
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14 

A solid weighs 100 g in air, 75 g in water and 70 g in oil. Calculate the relative density of the 
oil. 

With the help of an example explain the law of conservation of energy. 

3 

15 "Q:fi" ti<: -q � � 50 W � 5 � � cf� � 70 W � � W 10 � � � 3 

� � ti 30 WT � "Q:fi" � -q � ffi"ffi � '{Re qn:i:fifl?td �I 

16 

17 

18 

19 

In a house 2 bulbs of 50 W each are used for 5 hours a day and two 70 W fans are used 10 
hours a day. Calculate the units of consumed in a month of 30 days. 

� cp;i-r t? � fcITT:r '5fcfiR 'i:fi"-i:r fcfi<TT � 'BclicIT t? � iWIT � � � � � furfurq:1 

What is reverberation. How can it be reduced? Give two applications of reflection of 
sound wave. 

(a) � £•Si.l7i.t,,(OI � oflll lffilITil1 �?

(b) fcfRft���frm�-;:rrq�1

(a) What are the consequences of global warming ?

(b) Name any three greenhouse gases.

(a) crTT-lIBr<fi 7-f;f cfi"T � � i?

(b) cm �.r,,.?t it l'--@'�cfiUT tr�� P1<1fAi1a 'i:fi'UIT cfi"T <F-TT� �?

(a) What is the use of a rain-gauge ?

(b) What is the role of dust and other suspended particles in the formation of rain?

(a) � � Tfo: 3ffl � WITT'A it oFR' cfffi 'Btjt � � <R-w-lf1cfi � fufu'1l: :
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20 

21

22 

(a) Write chemical formulae of all the compounds that can be formed by the combination of
following ions

Ca2 +, K +, Fe3 +, Cl - , SO ;

(b) Molar mass of nitrogen is 14u. What will be the mass of one atom of nitrogen in grams?

ft:r.G � fcn' � 'Ufum (���it 
Prove that Labio Rohita (rohu) is a chordeta. 

R9 TilTi / � aj- � cffficfil -« � 

(a) �� (b) SARS

(c) cfiR'ilGIR (d) �

(e) AIDS (f) ��

(g) l@WTT (h) ��

(i) � (j) �

Associate the following diseases/infections with their causative agents: 

(a) Sleeping sickness (b) SARS

(c) Kala-azar (d) Acne

(e) AIDS (f) Dengue fever

(g) Malaria (h) Brain fever

(i) Chicken-pox 0) Polio

5 

5 

5 
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SOON���� GJU Ww:ll 1T<l1 � qftcfif<?ta � � � ofiT � � 2.5cm2 

t, 

Define thrust and pressure. 

Give the mathematical formula that relates thrust and pressure. 

Define 1 Pascal. 

Calculate the pressure exerted by a block of weight 500 N if the surface area in contact is 2.5 
cm2

• 

23 (a) ffl cfi1 'ffi'llT1\J1 �I � TJ1:!, cfiT4 ofiT SI � �I � cfiT4 � � � 5

24 

�I

(b)'Q.cfi � cliT 50m cfi1 � "i:l<fi" � ll 'E£$ir � � W1T<TT TfGff � 250N l f<.fi<TT 1T<ll 

cfiFf qfo'fif�a �' m?.1 m cfiFf cfll "SF-fITT -in olfcRl �' 

(c)� fc;f;m � cfll � owJ cfi"T � � � t (if F-fi<TT lJ1TT cfiT<f cf<TT �?

(d)� <fiW � � -r� � � i m � 1P1T cnT<f Ffi<fTT mm?

( a) Define work. Give SI unit of work done. Write an expression for positive work done.

(b) Calculate the work done in pushing a cart through a distance of 50 m against the force of
friction equal to 250 N. Also state the type of work done.

(c) What will be the work done, if displacement of the object is perpendicular to the direction
of force?

(d) When an object moves on a circular path, what will be the work done?

(a) 5 
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(a) Explain why are root nodules useful for the plants ?

(b) List any three causes of 'Water Pollution' and briefly explain each of them.

'm'T-� / SECTION - B 

2s � � � � mtj'f � � cfiB � m if� � � � � � *'�= m-;fr 1 

�: 

(a) 2cm (b) 5cm (c) 50cm (d) 200cm

In performing an experiment to verify the laws of reflection of sound the length of the tubes 
used is preferably: 

(a) 2cm (b) 5cm (c) 50cm (d) 20 0cm

2s ���w��wr�t �l!;cfim�1R�q;-{ffirrt, ��i��o.s 1 

cm i I � � 55Kg i I � &JU ��"CR� Tr:rf GR i: 

(a) 

(c) 

7 0 0x104Pa 

450x104Pa 

(b) 

(d) 

500x104Pa 

250x104Pa 

Khushi is wearing high heel shoes, she balances on a single heel. The heel is circular with a 
radius of 0.5 cm. Her mass is 55Kg. The pressure exerted by the heel on the horizontal floor is 

(a) 

(c) 

700x1a4 Pa 

450x104Pa 

(b) 

(d) 

50 0x1a4 Pa 

21 � � 'ffi fcl;m � mrr it -mer m t m � � � � � � -u % � cl<n 1 

-�HH1ft:q ffi l c@' "%-

(a) c1iUT (b) � (c) *1 (d) �

When the pulse moves in a specific direction the physical quantity which is transferred from 
one point to the other is 
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28 

(a) particles (b) mass (c) velocity (d) energy

� 1J:qi' •$MlY:,1$2. � I � "ef� cfft � ffl 'cfR9T �� �: 
(a) 1fl�cfiT3lfcf�wm-m��i1
(b) 'F �� (1$"1"1$�+1 �� � '<ffiUT ���cf)!�� 

(c) �.���!:ffi"UT���I
(d) 1"T.f�
Moss is a bryophyte. The feature that confirms this fact is :
(a) undifferentiated plant body called thallus
(b) presence of false roots rhizoids and spore bearing capsule
(c) true roots, leaves and spore bearing sori
( d) naked seeds

1 

29 5.3g � � 6g � � � �?.T � � 2.2g � 11:�. 0.9g � � 1 

� 3tR �I;@�� 1 m <1f1<1f,cfi � � fu"Q: � m� qiT t.rm �mm mta 

I;@ qiT � m1l1

30 

(a) 8.20 g (b) 8.02 g (c) 8.0 g (d) 0.8 g 

5.3 g acetic acid combines with 6 g sodium carbonate to form 2.2 g sodium ethanoate 0.9 g 
carbon di-oxide and some water. If the law of conservation of mass in a chemical reaction is 
true, then find the mass of water products. 

(a) 

(a) 

(c) 

8.20 g (b) 8.02 g (c)

(b) 

(d) 

8.0 g (d) 0.8 g 

Law of conservation of mass is not fully applicable for 

(a) 

(c) 

Precipitation reaction 

Nuclear reaction 

(b) 

(d) 

Redox reaction 

Displacement reaction 

1 
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31 � � �&TUT t 0-, ,fr� � � � l- 1 

(a)��

(b)fi@;:ft �

(c) fll-!Hl"*l( fiMfct-4F8

(d) sillf�c:fi161<1_ fo{lfol-41'8

Broad leaves are characteristic of plants with 

(a) fibrous root system

(b) trimerous flower

(c) parallel venation

( d) reticulate venation

32 Q.c:fi"41"1931l � Fi;iifl;;,iq;ft cfi1 � �� 'tfl: � f<fi.:rT "fRll t- 1 

(a)� � -q � tf>l �

(b)ffl cITT -qfw.n' cITT Wrfu

(c) ffl' chl" � cITT Wrfu

(d)� � Tfl; ��

Monocots and dicots are classified on the basis of : 

(a) number of cotyledons in seeds of plants

(b) nature of leaf in plants

(c) nature of root in plants

( d) all of the above

33 ��Tfll:mif xzr�y cfiT��t- 1 
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(a) X:�1'fficfil; y - � WT 

(b) X : � 1'fficfiT ; Y - �61 RFl ctl cfffitl' 

(c) X : �611ft1�1 � ; Y- ��

(d) X:�WT; Y-��

The correct labels for X and y in the diagram drawn below are 

(a) X: respiratory siphon, y: air floats

(b) X: respiratory siphon, y: tracheal gills

(c) X: tracheal gills, y: respiratory siphon

( d) X : air floats, y : respiratory siphon

34 3 cm fcr:n � � ifi t!"1' � � cfii-1111�R WIT 61U � "cfiBf '%1 � � � tRi'6I" c'f1"f'il11 8.5 g 2 

cc-I t"ill irn � 'lffi:� <fiB ifi� � a:t<f9c11-1icfi 'chi cfi1-1111�1< � � � m-rft?

The mass of a solid iron cube of side 3 cm is to be determined by using a spring balance. If the 
density of iron is about 8.5 g cc- I , What should be the least count of the best suited spring 
balance to determine the weight of solid ? 
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35 

'EA'fi:fg/cm3

0.7 

19.3 

11.3 

13.6 

) 0.87 

21.4 

��: 

(i) ��cf>l�� ("Git) if��?

(ii) ��cfif���l:R�?

(iii) � � cfiT ��if��?

(iv) ��cfif��� ("Git) if��?

? 2 

Based on the table of densities, whether the object would float or sink in the following solution ? 

Material Density g/cm3

Gasoline 0.7 

Gold 19.3 

Lead 11.3 

Mercury 13.6 

Paraffin (wax) 0.87 

Platinum 21.4 
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36 

37 

Find: 

(i) Will a bar of gold sink in mercury ?

(ii) Will a piece of platinum float on gasoline ?

(iii) Will a block of paraffin sink in gasoline ?

(iv) Will a piece of platinum sink in mercury?

Enlist any two characteristics which are present in animals which belong to phylum chordata. 

'm11- � /Section - C 
(* Please ensure that open text of the given theme is supplied with this question paper)

Theme-I (Clean Air-A shared Concern): (5+5) 

(a) � �� � � %1 � �� 11"{ � � <3rl(dtlfclctl � m � ��

� <Fff i? � �%Rf � �� � � ew1,1-1os(1 if �� � if � CO2 �

qn_o111.-1 fcl ,ti\9 9fuwn cfiT -.,p:r � I � � � cnW � i:ift:urri:r � I

(b) � m J:-illJ.iVR offt � �_p-4<;jJ.il � (�) � � � cfiRUl 1TTffi �

� "UTT i1 � � 'q,J -;:i-r:r �I � � i'f � W!IB i? � a:m:rqrn cfi' �

� 'q,J � � � ql<J; � q;- � <3'cl{<(l4'\ �I Bl-1$11$� fcn � � �

cfil fcti-fr � ,fu;rr <ITT � �?

(a) Carbon dioxide is a pollutant. Then why is it necessary for the survival of life on earth
? Name the phenomenon which is the result of excessive release of CO2 in the
ahnosphere due to excessive burning of fossil fuels. Write its any two consequences.

(b) A white marbled domed monument is turning yellow due to air pollution. Name this
monument. Where is it located in India? Write the three neighbouring sources
responsible for air pollution and explain how these pollutants are turning the
monument yellow?

2 

10 
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